THE BASKETBALL PROBLEM
In a recent basketball game between the highly ranked Stanford Cardinal and the rebuilding USC Trojans, the Cardinal found that the Trojans were not to be taken lightly.  Although they built an early 12-point lead, the team from Southern California kept fighting back.  With 23 seconds left in the game, Stanford's lead was down to only 3 points.  A missed three-point attempt by Josh Childress led to a USC fast break and suddenly the lead was down to a single point.  On the next possession, Stanford tried to kill the clock, but USC's Errick Craven, stole the ball from Justin Davis and was immediately fouled. The clock had run down to 0.02 seconds.

Craven, a 60% free throw shooter, calmly stepped to the free throw line for a one-and-one opportunity.  If he missed the first shot, Stanford would win the game by a single point.  If he made the first and missed the second, the game would go into overtime.  Making both shots would give USC the upset victory.

Which of the three outcomes is most likely?  Why?    






